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1.  Proving the mettle is to show
A) strength
B) weakness
C) both
D) none
Proving the mettle 3, BRedROFTO
A) 33 ITEFRFED
B) mowred
C) «oaEwe
D) cnmue e

2. Hehasaloyal subordinate. Loyal is a
A) Noun
B) Pronoun
C) Adverb
D) Adjective
“Loyal” wow 353 ©,500:8¢0?
A) I3
B) =350
C) 3o
D) roeasoess

3. In a sequence the number of 2,4,8, ,32, 64
A 10
B) 16
C) 24
D) 30
RTI00Q,2, 4,8, , 32, 64 QTN 25O AT, CIRTTI, WICDWTTO?
A) 10
B) 16
C) 24
D) 30

(Set-D) [P.T.O.
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4.  His birthday falls June
A) in
B) on
C) by
D) at
“His birthday falls June.” 229 398 FoCIRT T
A in ¢ |
B) on
C) by
D) at

5. ThereisapinkMat __the floor
A) on
B) in
C) over
D) at
“There is a pink mat the floor.” 2309 B¢8 ROCIRT TT:
A) on
B) i
C) over
D) at

6. By selling product for Rs. 520 a person incurs a loss of Rs. 80 what is the cost price
A) Rs. 440
B) Rs. 600
C) Rs. 540
D) None
520 & GV w5008 BRATN TO SHFNT. SpehiafeNeRalate QT2
A) Rs. 440
B) Rs. 600
C) Rs. 540
D) cnmbe o,

(Set-D)
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7. XandY have a partnership business with a contribution Rs. 18,000 & Rs. 16,000 respectively,
if the total losses Rs. 6,800 then X’s share is
A) Rs. 6,800
B) Rs. 3,600
C) Rs. 3,200
D) Rs. 4,000
X 08y Y 538 orsscddd 218000 032 T16000 TR BRETT. T6800 Szends. X 1
@%sagjuomm;s:;?
A) Rs. 6,800
B) Rs. 3,600
C) Rs. 3,200
D) Rs. 4,000

8. IfAborrows Rs. 40,000 at a simple interest of 12% PA for 9 months, the interest works to
A) Rs. 4,800
B) Rs. 2,400
C) Rs. 3,600
D) None
A 740,000 12% XTY WRTTHE, 9 0NN O TEATT, R T ?
A) Rs. 4,800
B) Rs. 2,400
C) Rs. 3,600
D) onmae ey

9. Binvested Rs. 60,000 in 10% per annum simple interest for 2 years. The amount at the end
of 2 years is
A) Rs. 69,000
B) Rs. 72,000
C) Rs. 78,000
D) Rs. 88,000
B 2 60000 &8 10% 0% 8 ITY WRBODQ, 2 FRF BRATN, BBT WY 2 BRFAY TOBT 2R,
BRBNTOB3?
A) Rs. 69,000
B) Rs. 72,000
C) Rs. 78,000
D) Rs. 88,000

(Set-D) [P.T.O.



AN ©) SEES552

10. Inacodinglanguage, EASY is written as 5117.Then in the same coding language, BEAM is
written as:

A) 4512

B) 4567

C) 2513

D) 2514

EASY ©3) 2000 80¢@° oRode, 5117 2030 wdennd. BEAM ey er
WBCIOBOTIO?

A) 4512

B) 4567

C) 2513

D) 2514

11. Farm:farmer::Sports:
A) lawyer
B) engineer
C) police
D) Player
Farm:farmer::Sports:
A) lawyer
B) engineer
C) police
D) Player

12. Plane: pilot ::ship:
A) crew
B) driver
C) river
D) Sea

Plane: pilot ::ship:
A crew
B8) dmver

C) rnver
D) Sea

(Set-D)
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13. A & B are brothers C is the daughter of B and D is the husband of C,what is the relationship
of A and B’s father to D

A)  Grandfather

B) Fatherinlaw

C) Grandfatherinlaw
D) None

A D B z2@rextch. C B o &onsb 23020 D, C o @8. A 030 B 35388083 D it odnes
Xowor?

A) ez
B) 3=
C) oxs=ns

D) cngde o

14. “Copy cat”idiom means
A)  One who copies the others
B) Some one who looks like cat
C) One who is independent
D) None
“Copy Cat” 202 s53,309% o5Frases?
A) BT, FFORTHT
B) ¢38808TWBI0
£) RB0T, TR

D) cngoe o

(Set-D) [P.T.O.
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15.

In the antonyms of the word Dexterity, the following can’t be included
A)  Stupidity

B) Insensitive

C) Adept

D) Clumsiness

Dexterity S5 D00m@es Sunen amd Feovennmng;

A) Ropdres
B) w©xars
C) e

D) s¢@ss

Read the following passage and answer questions 16-20
FINT Ty Rees’ Oy FIE W BB 16-20 T,Znert Lvgdy

Story of Mike and Morris
TG BT B W00R

Mike and Morris lived in the same village. While Morris owned the largest jewelry
shop in the village, Mike was a poor farmer. Both had large families with many sons,
daughters-in-law and grandchildren. One fine day, Mike, tired of not being able to feed his
family, decided to leave the village and move to the city where he was certain to earn enough
to feed everyone. Along with his family, he left the village for the city. At night, they stopped
under a large tree. There was a stream running nearby where they could freshen up themselves.
He told his sons to clear the area below the tree, he told his wife to fetch water and he
instructed his daughters-in-law to make up the fire and started cutting wood from the tree
himself. They didn’t know that in the branches of the tree, there was a thief hiding.
He watched as Mike’s family worked together and also noticed that they had nothing to
cook. Mike’s wife also thought the same and asked her husband” Everything is ready but
what shall we eat?”” Mike raised his hands to heaven and said Don’t worry. He is watching all
of this from above. He will help us.”The thief got worried as he had seen that the family was
large and worked well together. Taking advantage of the fact that they did not know he was
hiding in the branches, he decided to make a quick escape. He climbed down safely when
they were not looking and ran for his life. But, he left behind the bundle of stolen jewels and
money which dropped into Mike’s lap. Mike opened it and jumped with joy when he saw the:
contents. The family gathered all their belongings and returned to the village. There was
great excitement when they told everyone how they got rich. Morris thought that the tree

(Set-D)
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16.

was miraculous and this was a nice and quick way to earn some money. He ordered his
family to pack some clothes and they set off as if on a journey. They also stopped under the
same tree and Morris started commanding everyone as Mike had done. But no one in his
family was willing to obey his orders. Being a rich family, they were used to having servants
all around. So, the one who went to the river to fetch water enjoyed a nice bath. The one who
went to get wood for fire went off to sleep. Morris’s wife said “Everything is ready but what
shall we eat?”Morris raised his hands and said,” Dont worry. He is watching all of this from
above. He will help us ” As soon as he finished saying, the thief jumped down from the tree
with a knife in hand.Seeing him,everyone started running around to save their lives. The thief
stole everything they had and Morris and his family had to return to the village empty handed,
having lost all their valuables that they had taken with them.

RF FoF BROF® 20Tse M,TOTY, TRDFT0. TROF MRTTYT TRE SI0T Sone
SR00T, W= 37 WE G BTN, VBWOWTLR TRT BOUD0WNITEY - 53T BoFF, ARACIT,
2080 BRBTFRON.

2,00 OF, YT B 30630008, BT WHENBLO ATENG WEBR0T, B, N12,3IBS, Wed),
ST, BRENEO AFFOAT. & ;‘éfd@ ), 3R BWEBIB/IY PUBTORRVRWIBOT 0L WTIFDOT
BLD0WTRODT BHTL. TS, WOLN, WHTO BRE VOTH IR 09,08 IRBOTRTLD
QFFOATIT.

O BT BOCINT WO BRT BHWOT B0F) VT WBNIBD. YT BF, BoL0WE FOT T
A3 STOPAT. $TB, 00T eI F2adeddQ TR BoNT. T I DI Boewtd
BEPTI, LB/IN QT RPST, £3z380 a'iraezso%a;ad!

6@%53 RROIBRCBTO 0B BFED WRIBRCTI). LTI TRENOTIN 332{ 32300 =03 52@35&
2830 BREOWIB. T WY JreR FOZRERD0T BIETTI, 71,3808 WoTHCWRD.

SROT B ST Wi Fe9, BTRY BROFORLD B,ODIATRD. BTT, BBW3 PW0WTHW
HFTEE D3 3odeodn FuT SREIY, 7Y BTROT 3w 0P GITFY, 2RBNR, 0
RN, BTIROT.

Why did Mike and his family decide to rest under the thief’s tree?

A) Being a large family, they knew that they could easily defeat the thief

B) Itwas aconvenient spot for taking a halt at night

C) There was a stream near by and wood enough to build a house
D) That was the only large tree that could shelter their large family

BT B3, Be00WTLODT TYT 0T BTt Bonew Fo09e3e30?

A) oD TBRT, BOE0LTINT 00T TEII), FoVYIesN RREOTWBOT
B) o8 3onw s e308ewss 3¢

C) Brd BT BBy W 9T BER WTR), Z0TTR)

D) Ber 8u00wE ©53,03 JeBD 2.083¢ BRT [T Bwd

(Set-D) [P.T.O.
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17. Which of the following best describes Morris?

A)
B)
9
D)

=300

A)
B)
C)
D)

18. What did Mike mean when he said “He is watching all this from above™?

A)
B)
0
D)

He was a rich businessman

He bullied his wife

He paid his servants well

He was greedy and imitated Mike

RS BLIOTDSY VBTN TORIYTIO CITRITO?

BT Q008 39, TOSIRNT T

B3, BOBEOITY, PBOROTT

Rezszor evgesd HeS QST

ST W HF TR [YF* T, YZTORTI

He had spotted the thief and wanted to scare him

He was telling his wife to have faith in god

It was just a warning for his family members to stick together
He was begging the thief to help his family

BT [T oo a’iraec?oémgd DOTIN DTS SHERRRBRESTTO?

A)
B)
C)
D)

330 FYTI), MeBIVATTO 0BY LRI, BBORLD TEPTITO
3630 oedS TR VWD T, TOBEN BEPTTO

33, %omou%é 3 OF QTR TEPTITD

BN BB FeFTITO

19. Why did the thief return to the tree?

A)
B)
0
D)

To wait for Mike to return

To setup atrap

To wait for Morris’s family
Not mentioned in the passage

6@{) :pd@e HO0DTINOY FTITEIICI0?

A)
B)
C)
D)
(Set-D)

TP 0T ®®e§
£39,T° TOTL
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FGH00Y LZeDIOQ,
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20.

21.

22.

How did the fellow villagers react to Mike getting rich over night?
A) They were jealous of him

B) They were very excited

C) They followed his example

D) Theyenvied him

RYF° 20T 08,0, GERO0TTIWIN, 119,3WIFT T, 88,030 022 ?
A) osDETT W, 9RRD T

B) &350 200w cvmEonsnsd

C) 7, 3,R0TTY, WROROITT

D) =% 320800008 a5sd

What least number should be added to 338 to make it perfectly divisible by 7

A) 2

B) 5

C) 4

D) 12

338 TR, 7 00T BOTREIFTTIN DRHO FAT DT, X083, FednLIez0?
A 2

B) 5

C) 4

) 12

A two digit number is such that its product is 8 and if 18 added to that number, the digits are
reversed. The number is

A) 18

B) 24

C) 42

D) 81

DT 90F03D 750935, QTT MOLHFO 8 OB Qﬁd@é 18 ReOATT, 503MEL STONTOZ Toea0T 3. 3
7035, 03eT0?

A) 18

B) 24

C) 42

D) 81

(Set-D) [P.T.O.
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23. HCF between 20 & 50 is
A 4
B) 5
C) 10
D) 20
120 33 50 3 RoR, MR, w08 (HCF) cimsgco?
A 4
B) 5
C) 10
D) 20

24. LCM between 6,38,24

A) 3

B) 16

C) 456

D) 12

6, 38, 24 O BIF BoRNT, rbsamgp (LCM) c3553z35?
A 3

B) 16

C) 456

D) 12

25. Find the number which will divide 43, 99 & 183 so as to leave same reminder
A 14
B) 7
C 9
D) 13
43,99 SO0 183 oS WOTC GVPTF L0 QB T3 :3093?5 O3RR)T0?
A 14
B) 7
) 9
D) 13

(Set-D)
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26.

27.

28.

SLET Examination is conducted to appoint

A) Lecturers

B) Bank Employee

C) Defense Staff

D) Civil Servants

SLET Z0¢g 035238 363308 SREL0 SEITngnH?
A)  YUTI,XTON

B) 3,08 evdpenniont

C) d§—a R0 o@ﬁ

D) Tonos RNewwon

IES is conducted to appoint

A) Engineers

B) Accountant

C) Pilot

D) Clerks

[ES 08 0353 6330598 BNBOL SEITNIZ?
A) QoI

B) &8®E 500

C) How
D) O3
ITO is related to

A) Information technology
B) Telephone Department
C) Income Tax Department
D) None ofthe above

ITO it BOWORAT:
A)  [InkSSes:T

B) ©eTmosd aeedld

C) &Sm0 301 voesd

D) R0ed cdnpme 89,

(Set-D)

SEES552

[P.T.O.
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29.

30.

31.

CAT is the examination conducted for entering into
A) Charted accountant course

B) Cost Accountant

C) Legal studies

D) Management Programs

CAT wbeﬁma@ﬁ%&@aﬁw BB IBRRMOZT?
A) WRFTTET 58083083 BRER°F

B) &%, IBTT,

C) TR o oI -

D) QRFHHD FD030F B, TN

Minimum qualification to become a Post Man
A) No qualification

B) Passingin lgs

C) Any graduation

D) Post graduate

ZTOOI AL 0DOIRNRLD TRF, B3 03RRTO?
A)  oIeRyhe sBES AR,

B) 103¢33NS TomRNTLIEBD

C) OIRWTIE HHD

D) mg&@eg ofcs[atN

Minimum qualification to become a probationary officer in a Nationalised bank
A) Adegree

B) Post graduate

C) CA

D) None of these

TOR(T 3 méo%m‘;,;@’oimm@es ©50T0 SNY0 TIT SBES O3NRYTO?

@
A) TBR
B) @3&@@36
C) AR

D) eS8 CSRWR AR,

iéet -D)
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32.

33.

(Set-D)

The ratio of income of A, B & C is 3:7:4 and the ratio of expenditure is 4:3:5 respectively,
if A saves Rs. 300 out of 2400 find the savings of C.

A) 565
B) 570
C) 575
D) 580

D B DR A STONT ST 3174 W) BES DTIFY FwN 4:3:5
SN, 2o Bed Tw.2400 I 300 A OPTIONTT), FOTELRAWD.

A) 565
B) 570
C) 575
D) 580

Afather is 7 years older than the mother and the mother’s age now is 3 times of the daughter.
The daughter is 10 years old now, what was the father’s age when daughter was born?

A) 27 years
B) 37 years
C) 15 years
D) 40 years

200 S200N03 7 IRE &aawaao OB FCWCDL TR0 ao&,ncz =N ao&wu 3 a&oa . 3ong
un.‘buwmﬂ 10 SRE. [onsd ctouwwauu 308303 a%ﬁaﬂm&@

A) 37 S
B) 313=F
C) 153RF
D) 4o=we

[PT.O.
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34. Ifx:y=2:1 find the value of k(2x+3y): (x+4y)

A) 89

B) 7:8

C) 57

D) Noﬁe of the above

x 1y =2:1 encoment (2x+3y): (xt4y) o 8P @2
A) 89

B) 7:8

€} 557

D) o RN B,

'35, The respective ratio between the present ages of Ram, Rohan & Raj is 3:4:5. If the average
of their present ages is 28 years, then what would be the sum of the ages of Ram and Ra
together after 5 years

A) 45
B) 55
C) 52
D) 66

DORF, BREE® W) T 93T TR FODRT 803 3:4:5. 338 B33 ST FTIR
28 BRE 0T BN 5 IRFNY S03T TR WoBI Toe’ €933 wo:b;’gus EMOK] ebx% g

A) 45
B) 55
C) 52
D) 66

(Set-D)
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l
’ 36.
i

13400 is divided among 3 workers A, B & C in the ratio of 4/5:2:5/3, find the share of each
worker

A) 2400, 6000,5000
B) 2400, 5000, 6000
C) 3600, 8000, 1800
D) 5000, 6000, 2;100

13400 533 [0R3D B A, B, 308 C 1 4/5:2:5/3 500803 T0wBNG. T8 To00F 8
20T @x% ?

A) 2400, 6000,5000
B) 2400, 5000, 6000
C) 3600, 8000, 1800
D) 5000, 6000, 2400

The ratio of monthly income of A & B is 9:8 and their monthly expenditure is in the ratio of
7:6. If each of them saves Rs. 8000 per month, find the sum their monthly incomes.

A)  Rs. 1,36,000
B) Rs. 28,000
C) Rs 68,000
D) Rs 52,000

A =520 B o0 35327 smo0dE 930708 9:8 022 dzsa’ 098 7:6. 5,8 MONTH 28000
ex‘u@"‘mc £20 STOOONY mé QD(’AL)Q

A) Rs. 1,36,000
B) Rs. 28,000
C) Rs. 68,000
D) Rs. 52,000

(Set - D) [PTO.
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38. Afteranincrease of 7 in both numerator and denominator ,the fraction change is 7/8, what
was the original fraction?

A 512

B) 7/9

C) 2/5

D) 3/8

908 T Bowdod FYsnos 7/8 fractional ratio men 7 B¢ wvorRNGS. Swe frac-
tion £T?

A 5/12

B) 7/9

C) 2/5

D) 3/8

39. Ina class of 40 students 25 boys and 15 girls are included, the average fail students is 70,
if the average of girl students is 80, what are the total marks scored by boys.

A)
B)
O
D)

2000
1000
1600
600

W, 40 é)megtﬁrmﬁe; 25 TBIBONTY 0B 15 TOBONOITD ﬁe@cgad. BORINTY, &)csaé@rmﬁ
e90TINTD ao?glzéojo R09RD 70. TITWINODT FT=O 80 fatgo 3, TITBONT W, 503N eDeTJ% ?

A)
B)
O
D)

(Set-D)

2000
1000
1600
600
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40.

41.

42.

The average wages in a factory per day is Rs.80 with total of 400 workers, if average wages
220 male workers is Rs. 90, find the average wages of female workers.

A) Rs. 100
B) Rs.85
C) Rs. 110
D) None

TRFBODY, T8 OFT T80 FTIRD BESIT 400 ToAFFOTIDT. 220 PBORT FTRO ¢BT T90
BNT. [T FOROFFT FTIFO HeST D) ?

A) Rs. 100
B) Rs.85
C) Rs. 110

D) «GRITER VY

The average temperature of Wednesday, Thursday & Friday was 40 degrees Celsius.
The average for Thursday, Friday and Saturday is 41 degree Celsius. What is the temperature
on Wednesday if it is 42 degree Celsius on Saturday?

A) 139 degrees Celsius

B) 44 degrees Celsius

C) 38 degrees Celsius

D) 41 degrees Celsius

WOPTOT, MBIV R0B) B08,5500C TTTO ToBHINS 40 &N, RO 030, MOTIT, 303,590
I BT F0IRO SITRRT 41 BN, FO R BT 42 BN, VT WOV STRRT

The average of first 5 multiples of 6 is

A) 20
B) 16
C) 28
D) 30
6 O RRTO 5 MOFBIBNS 090 @S% ?
A) 20
B) 16
C) 28
D) 30

[P.T.O.

is
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43. The average of 3 boys is 15 years, if their ages are in the ratio of 3:5:7, the age of eldest boy
1s

A) 21 years

B) 18 years

C) 15 years

D) 9 years

3 BORONT FTHRO WOV 15 TR 9330 FOPT 0TS 3:5:7 QTT, BRE, TOTONS TR,
QT?

A) 21 SBRE

B) 18%&F

C) 15=R

D) 9zRE

44. The average of group of men is increased by 4 years when a person of 18 years is replaced
by anew person aged 38 years, how many men are in the group.

A 3
B) 4
C) 5
D) 6

18 JIRFT wgojmgt 38 JRED wdz_%ooaaozs LWBEDOWATOIN MO aﬁoﬁa&aﬁ TooRO 4 DR
BRFT. MOV DT, ®WIOTIDT?

A) 3
B) 4
C) 5
D) 6

(Set-D)
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45.

46.

(Set-D)

In a boat there are 8 men, whose average weight is increased by lkg when 1 man of 60 kg is
replaced by new man, what is the weight of new man?

A 70ke
B) 66kg
C) 68k
D) 69ke

60 3.23. 333 e:’>d§033a3{ WITTOWRTN 8 BIT 333 TooZ0 1 2.2, o“ozsowgd. B q_éojo
3@633%9

A) 703.2.
B) 66 3.22.
C) 683..
D) 69 3.c2.

The sum of Ages of 5 children born at the interval of 3 years each is 50 years, what is the
age of the eldest child?

A) 14 years
B) 18 years
C) 10 years
D) 16 years

5 abﬁ:: dcﬂoiﬁ [R8 50 IRF, 3 IRFAY eﬂosdcjc‘)m TAAD. 898 /LA TN 5&33:’9\)
AT ?
ed

A) 143z
B) 18=me
C) 10z=

D) 16 =x¢
[P.T.O.
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47. The following is the pérfect square 2 digit number

A) 10000

B) 10201

C) 11025

D) 9801

FSNTR) TOTPEaF 2PF 2 90803 R033,03%Ne3
A) 10000

B) 10201

C) 11025

D) 9801

48. Asumof201 is made up of coins consisting of Rs. 1 coins 50 paise and 25 paise in the ratio
of 5:6:8, how many rupee coins are there

A) 163

B) 168

C) 105

D) 100

1 3R., 50 G, BBY 25 FF T, NV0T 5:6:8 WROTLSTEY, 2201 o7, LIS, 2R, 1 Br.
RIORALO

A) 163

B) 168

¢ 105

D) 100

49. Tally isrelated to
A) Music
B) Accounts
C) Medicine
D) Photography
9,9 1t Xowodss:
A) Rones
B) LY
C) &=z
D) e¢ooinss,

(Set-D)
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50. Ramesh said,”Sathish is safe” indirect speech is
A)  Ramesh said that Sathish is safe
B)  Ramesh confirmed Sathish is safe
C)  Ramesh declared that Sathish is safe

D) Ramesh felt ﬁappy Sathish is safe

DR, “Tdez* KT B 0T AT, Wieeg PORET WIS
A) TR BEeD® RTYE 2030 Fewmos.

B) oabert Beer 23088 woms usEnan s,

C) ooder* Beezs AOTF B 20T eI,

D) ooser* Zo3nex Te3T0.

(Set-D)

Al

SEES552

[P.T.O.
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